

Inverse Relationships Add/Sub (D)

Instructions: Use the information given to fill in each box.

since $10 + 8 = 18$
then $18 - 10 = \boxed{}$

since $19 + 5 = 24$
then $24 - 19 = \boxed{}$

since $20 + 13 = 33$
then $33 - 20 = \boxed{}$

since $20 + 7 = 27$
then $27 - 20 = \boxed{}$

since $16 + 11 = 27$
then $27 - 16 = \boxed{}$

since $6 + 11 = 17$
then $17 - 6 = \boxed{}$

since $14 + 20 = 34$
then $34 - 14 = \boxed{}$

since $12 + 16 = 28$
then $28 - 12 = \boxed{}$

since $9 + 12 = 21$
then $21 - 9 = \boxed{}$

since $5 + 12 = 17$
then $17 - 5 = \boxed{}$

since $6 + 17 = 23$
then $23 - 6 = \boxed{}$

since $10 + 15 = 25$
then $25 - 10 = \boxed{}$

since $12 + 17 = 29$
then $29 - 12 = \boxed{}$

since $14 + 19 = 33$
then $33 - 14 = \boxed{}$

since $11 + 13 = 24$
then $24 - 11 = \boxed{}$

since $7 + 18 = 25$
then $25 - 7 = \boxed{}$

Inverse Relationships Add/Sub (D) Answers

Instructions: Use the information given to fill in each box.

$$\begin{array}{l} \text{since } 10 + 8 = 18 \\ \text{then } 18 - 10 = \boxed{8} \end{array}$$

$$\begin{array}{l} \text{since } 19 + 5 = 24 \\ \text{then } 24 - 19 = \boxed{5} \end{array}$$

$$\begin{array}{l} \text{since } 20 + 13 = 33 \\ \text{then } 33 - 20 = \boxed{13} \end{array}$$

$$\begin{array}{l} \text{since } 20 + 7 = 27 \\ \text{then } 27 - 20 = \boxed{7} \end{array}$$

$$\begin{array}{l} \text{since } 16 + 11 = 27 \\ \text{then } 27 - 16 = \boxed{11} \end{array}$$

$$\begin{array}{l} \text{since } 6 + 11 = 17 \\ \text{then } 17 - 6 = \boxed{11} \end{array}$$

$$\begin{array}{l} \text{since } 14 + 20 = 34 \\ \text{then } 34 - 14 = \boxed{20} \end{array}$$

$$\begin{array}{l} \text{since } 12 + 16 = 28 \\ \text{then } 28 - 12 = \boxed{16} \end{array}$$

$$\begin{array}{l} \text{since } 9 + 12 = 21 \\ \text{then } 21 - 9 = \boxed{12} \end{array}$$

$$\begin{array}{l} \text{since } 5 + 12 = 17 \\ \text{then } 17 - 5 = \boxed{12} \end{array}$$

$$\begin{array}{l} \text{since } 6 + 17 = 23 \\ \text{then } 23 - 6 = \boxed{17} \end{array}$$

$$\begin{array}{l} \text{since } 10 + 15 = 25 \\ \text{then } 25 - 10 = \boxed{15} \end{array}$$

$$\begin{array}{l} \text{since } 12 + 17 = 29 \\ \text{then } 29 - 12 = \boxed{17} \end{array}$$

$$\begin{array}{l} \text{since } 14 + 19 = 33 \\ \text{then } 33 - 14 = \boxed{19} \end{array}$$

$$\begin{array}{l} \text{since } 11 + 13 = 24 \\ \text{then } 24 - 11 = \boxed{13} \end{array}$$

$$\begin{array}{l} \text{since } 7 + 18 = 25 \\ \text{then } 25 - 7 = \boxed{18} \end{array}$$